Pavol Marušiak Asymptotic properties of nonoscillatory solutions of neutral delay differential equations of n-th order

Czechoslovak Mathematical Journal, Vol. 47 (1997), No. 2, 327-336

Persistent URL: http://dml.cz/dmlcz/127359

Terms of use:

© Institute of Mathematics AS CR, 1997

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

ASYMPTOTIC PROPERTIES OF NONOSCILLATORY SOLUTIONS OF NEUTRAL DELAY DIFFERENTIAL EQUATIONS OF n-TH ORDER

PAVOL MARUŠIAK, Žilina¹

(Received April 10, 1995)

1. INTRODUCTION

We consider a neutral differential equation in the form

(E)
$$L_n[x(t) + p(t)x(h(t))] + q(t)f(x(g(t))) = b(t),$$

where $L_0 z(t) = z(t)$, $L_k z(t) = a_k(t)(L_{k-1}z(t))'$, k = 1, 2, ..., n, $a_0 = a_n = 1$, $a_k \in C([0, \infty), (0, \infty))$, k = 1, 2, ..., n - 1, $p, q, h, g, b \in C([0, \infty), \mathbb{R})$, $q(t) \neq 0$ on any half line $[t_0, \infty)$, $t_0 \ge 0$;

- (C₁) h(t) < t, $\lim_{t \to \infty} h(t) = \infty$, $\lim_{t \to \infty} g(t) = \infty$, h(t) is an increasing function on $[t_0, \infty)$, $t_0 \ge 0$;
- (C₂) uf(u) > 0 for $u \neq 0$.

Let $t_0 \ge 0$ be such that $T = \min\{\inf_{t \ge t_0} h(t), \inf_{t \ge t_0} g(t)\} \ge 0$. A function $x(t) \in C[T,\infty), \mathbb{R}$ is a solution of (E) on $[t_0,\infty)$ if the functions $L_k[x(t) + p(t)x(h(t))], 0 \le k \le n$ exist and are continuous on $[t_0,\infty)$ and x(t) satisfies the equation (E) on $[t_0,\infty)$.

In this paper we will consider only such solutions of the equation (E) that $\sup\{|x(t)|; t \ge t_x\} > 0$ for any $t_x \ge t_0$. Such a solution is called nonoscillatory if it is eventually of constant sign for sufficiently large t. Otherwise it is called oscillatory.

Many authors have been studying the oscillatory properties of solutions of neutral differential equations with positive or negative coefficient q(t). Numerous interesting results of this type can be found, for example, in the papers [1-3, 5, 6, 9–11] and in the references given therein. We know only the papers [4, 8] dealing with the case

¹Research was supported by Grant Agency for Science 1/2014/95.

when the coefficient q(t) can change the sign. In this paper we extend some results from the papers [4, 7, 8] to the equation (E).

2. Preliminaries

Denote

(1)
$$h^{[0]}(t) = t$$
, $h^{[k]}(t) = h(h^{[k-1]}(t))$, $k = 1, 2, ...; h^{[-k]}(t)$ denotes the inverse function to $h^{[k]}(t)$, $n = 1, 2, ...$

- (2) $P_0(t) = 1, P_{k+1}(t) = P_k(t)p(h^{[k]}(t)), k = 0, 1, 2, ...;$
- (3) $\gamma(t) = \sup\{s \ge 0; h(s) \le t\}, t \ge 0, \gamma_0(t) = t, \gamma_{k+1}(t) = \gamma(\gamma_k(t)), k = 0, 1, \dots$
- It is easily verify that $\gamma_k(t_0) < \gamma_{k+1}(t_0)$, $\lim_{t \to \infty} \gamma_k(t_0) = \infty$ if h(t) satisfies (C₁).

Lemma 1. [8; Lemma 1] (a) Let

(4)
$$u(t) = v(t) + p(t)v(h(t)),$$

where $u, v, p, h \in C([t_0, \infty), \mathbb{R})$, and h(t) satisfies the condition (C₁).

(b) Let there exist constants $p_1, p_2 \in \mathbb{R}$ such that

(5)
$$|p(t)| \leq p_1 < 1, \quad p(t) p(h(t)) \geq 0,$$

or

$$(6) p_2 \leqslant p(t) \leqslant 0$$

holds for $t \ge t_0$. Assume that 0 < v(t), $\liminf_{t \to \infty} v(t) = 0$ and there exists $\lim_{t \to \infty} u(t) = L \in \mathbb{R}$.

Then L = 0.

A similar lemma we can find in [5, Lemma 1.5.2], in which h(t) = t - c, $0 < c \in \mathbb{R}$ and p(t) has a constant sign.

Lemma 2. Let the assumption (a) of Lemma 1 be satisfied. Let there exist constants $p_1, p_3 \in \mathbb{R}$ such that either (5) or

$$(7) p(t) \leqslant p_3 < -1$$

holds for $t \ge t_0$.

Assume that $0 \leq v(t) \leq v_0 < \infty$ and $\lim_{t \to \infty} u(t) = 0$. Then $\lim_{t \to \infty} v(t) = 0$.

Proof. i) Let (5) hold. Then the proof is the same as the proof of Lemma 2 [9].

ii) Let (7) hold. Then from (4) with regard to (1) and (7) we obtain

$$v(t) \leq \frac{1}{p_2} [u(h^{-[1]}(t)) - v(h^{-[1]}(t))], \text{ for } \gamma_1(t) \ge t_0.$$

By iteration for sufficiently large t we have

(8)
$$v(t) \leq \frac{1}{p_2} u(h^{-[1]}(t)) - \frac{1}{p_2^2} u(h^{-[2]}(t)) + \dots + (-1)^{n-1} \frac{1}{p_2^n} u(h^{-[n]}(t) + (-1)^n \frac{1}{p_2^n} v(h^{-[n]}(t)) \text{ for } \gamma_n(t) \geq t_0.$$

In view of $\lim_{t\to\infty} u(t) = 0$, for any $\varepsilon_1 > 0$ there exists a sufficiently large t_1 such that $|u(t)| < \varepsilon_1$ for any $t \ge t_1$. Then from (8) we obtain

$$|v(t)| \leq \frac{\varepsilon_1}{|p_2| - 1} + \frac{v_0}{|p_2|^n}$$

Therefore for any $\varepsilon > 0$ there exist ε_1 and $n = n_0 \in N$ such that $\frac{\varepsilon_1}{|p_2|-1} + \frac{v_0}{|p_2|^n} < \varepsilon$. Then the last two relations imply $\lim_{t \to \infty} v(t) = 0$.

Lemma 3. Let the assumption (a) of Lemma 1 hold and $|p(t)| \leq p_1 < 1$ for $t \geq t_0 > 0$. If v(t) > 0 and u(t) is bounded from above (v(t) < 0 and u(t) is bounded from below) on $[t_0, \infty)$, then v(t) is bounded.

Proof. Let v(t) > 0 and $u(t) \leq K < \infty$ for $t \geq t_0$. From (4) in view of (1)-(3) we obtain

$$v(t) = u(t) - p(t)v(h(t)) = u(t) - P_1(t)u(h(t)) + P_2(t)v(h^{[2]}(t)), \quad t \ge \gamma(t_0)$$

Repeating this argument we find

(9)
$$v(t) = \sum_{k=0}^{m-1} (-1)^k P_k(t) u(h^{[k]}(t)) + (-1)^m P_m(t) v(h^{[m]}(t)),$$
$$t \ge \gamma_m(t_0), m = 1, 2, \dots$$

Let $0 < v(t) \leq c$ for $t \in [t_0, \gamma(t_0)]$, then $h^{[m]}(t) \in [\gamma_m(t_0), \gamma_{m+1}(t_0)]$ and $0 < v(h^{[m]}(t)) \leq c$.

If $|p(t)| \leq p_1 < 1$ then by (2) $|P_k(t)| \leq p_1^k < 1$ for $t \geq \gamma_k(t_0), k = 1, 2, ..., m$. Then from (9) we have

$$0 < v(t) \le K \sum_{k=0}^{m-1} p_1^k + p_1^m c \le \frac{K}{1-p_1} + c = K_1 < \infty$$

for $t \in [\gamma_m(t_0), \gamma_{m+1}(t_0)], m = 1, 2, \dots$ The last relation for $t \to \infty$ implies that $0 < v(t) \leq K_1$.

Analogously we prove the result if v(t) < 0 and u(t) is bounded from below on $[t_0, \infty)$.

Lemma 4. [7, Lemma 2] Let $w \in C([t_0, \infty), \mathbb{R}), v \in C^1([t_0, \infty), \mathbb{R})$ and let there exist $\lim_{t\to\infty} [w(t)v'(t) + v(t)]$ in the extended real line $\mathbb{R}^{\#}$. Then $\lim_{t\to\infty} v(t)$ exists in $\mathbb{R}^{\#}$.

Denote

(10)
$$A_0(t) = 1, \quad A_k(t) = \int_{t_0}^t \frac{A_{k-1}(s)}{a_k(s)} \, \mathrm{d}s, \text{ if } A_k(\infty) = \infty$$

for k = 1, 2, ..., n - 1.

(11)
$$A_0(t) = 1, \quad A_k(t) = \int_t^\infty \frac{A_{k-1}(s)}{a_k(s)} \, \mathrm{d}s, \text{ if } A_k(t_0) < \infty$$

for k = 1, 2, ..., n - 1.

Lemma 5. Let $k \in \{1, 2, ..., n\}$, $u_k(t) = \int_T^t A_{k-1}(s)(L_{k-1}z(s))' ds$, where T > t $t_0, L_0z(t), \ldots, L_nz(t)$ are continuous functions on $[t_0, \infty)$ and $A_k(t), k = 1, 2, \ldots, n-1$ are defined by (10) or by (11).

(i) *If*

$$\lim_{t\to\infty}u_k(t)=+\infty \ (-\infty) \ \text{for} \quad k=2,3,\ldots,n,$$

then $\lim_{t\to\infty} u_i(t) = +\infty(-\infty), i = 1, 2, ..., k - 1.$ (ii) Let z(t) be a bounded function on $[t_0, \infty)$ and let there exist $\lim_{t\to\infty} u_n(t)$, then $\lim_{t\to\infty} z(t) = z_0 \in \mathbb{R}.$

If (10) holds, then in addition $\lim_{t\to\infty} L_i z(t) = 0, i = 1, 2, ..., n-1.$

Proof. We easily prove that the functions $u_k(t)$, k = 1, 2, ..., n-1 satisfy the differential equation

(13_k)
$$\frac{A_k(t)}{A'_k(t)}u'_k(t) - u_k(t) = \varepsilon \overline{u}_{k+1}(t), \quad t \ge T > t_0,$$

where $\varepsilon = +1$, or -1 if (10) or (11) holds, respectively,

(14)
$$\overline{u}_{k+1}(t) = u_{k+1}(t) + A_k(T)L_{k-1}z(T), \ k = 1, 2, ..., n-1.$$

In view of (10) or (11) and (C₁) we have $A_k(t) > 0$, $A'_k(t) > 0$, k = 1, 2, ..., n - 1, for $t \ge T > t_0$.

The equation (13_k) , $k \in \{1, 2, ..., n-1\}$ can be written in the form

$$\left(\frac{u_k(t)}{A_k(t)}\right)' = \varepsilon \ \frac{A'_k(t)}{A_k^2(t)} \overline{u}_{k+1}(t), \quad t \ge T.$$

From the last equation we obtain

(15_k)
$$u_k(t) = \varepsilon \ A_k(t) \int_T^t \frac{A'_k(s)}{A_k^2(s)} \overline{u}_{k+1}(s) \, \mathrm{d}s,$$

 $k \in \{1, 2, \dots, n-1\}.$

(i) Let $k \in \{1, 2, ..., n-1\}$ and $\lim_{t \to \infty} u_{k+1}(t) = \infty$. Then by (14) $\lim_{t \to \infty} \overline{u}_{k+1}(t) = \infty$. Then from (15_k), taking into account (10) or (11), we obtain that $\lim_{t \to \infty} u_k(t) = \infty$. If k > 1, we can repeat this process and getting successively that $\lim_{t \to \infty} u_i(t) = \infty$, i = k - 1, ..., 2, 1.

(ii) Let z(t) be a bounded on $[T, \infty)$, $T > t_0$. Then $u_1(t) = z(t) - z(T)$ is bounded on $[T, \infty)$. If there exists $\lim_{t\to\infty} u_n(t)$, then in view of (13_{n-1}) and Lemma 3 there exists $\lim_{t\to\infty} u_{n-1}(t)$. If we proceed similarly we successively get that there exist $\lim_{t\to\infty} u_k(t)$, $k = 1, 2, \ldots, n-2$. Then with regard to the case (i) and the fact that $u_1(t)$ is bounded, there are b_k : $|b_k| < \infty$ such that $\lim_{t\to\infty} u_k(t) = b_k, k = 1, 2, \ldots, n$. Therefore from

$$\lim_{t \to \infty} \left[\frac{A_k(t)}{A'_k(t)} u'_k(t) - u_k(t) \right] = \varepsilon [b_{k+1} + A_k(T) L_k z(T)] = \overline{b}_{k+1},$$

(k = 1, 2, ..., n - 1) and (12) we obtain

(16)
$$\lim_{t\to\infty}\frac{A_k(t)}{A'_k(t)}u'_k(t) = \lim_{t\to\infty}A_k(t)L_kz(t) = \overline{b}_{k+1} - b_k = c_k \in \mathbb{R},$$

$$\lim_{t \to \infty} z(t) = b_1 + z(T) = \overline{b}_1$$

Let (10) hold. Then from (16) in view of (10) we obtain

$$\lim_{t \to \infty} L_k z(t) = 0, \ k = 1, 2, \dots, n-1.$$

		ъ.

Remark. Denote $q_+(t) = \max\{0, q(t)\}, q_-(t) = \max\{0, -q(t)\}$. Then $q(t) = q_+(t) - q_-(t), t \in [t_0, \infty)$.

3. MAIN RESULTS

Theorem 1. Let (C_1) , (C_2) and either (10) or (11) hold. Let there exist constants $p_1, p_2, p_3 \in \mathbb{R}$ such that either (5) or

(17)
$$p_3 \leqslant p(t) \leqslant p_2 \leqslant -1 \quad \text{for} \quad t \geqslant t_0.$$

In addition we suppose that for $T \ge t_0$

(18)
$$\int_{T}^{\infty} A_{n-1}(t) |b(t)| \, \mathrm{d}t < \infty,$$

and either

(19₁)
$$\int_{T}^{\infty} A_{n-1}(t)q_{+}(t) dt = \infty,$$

(20₁)
$$\int_{T}^{\infty} A_{n-1}(t)q_{-}(t) \,\mathrm{d}t < \infty,$$

or

(19₂)
$$\int_T^\infty A_{n-1}(t)q_+(t)\,\mathrm{d}t < \infty,$$

(20₂)
$$\int_T^\infty A_{n-1}(t)q_-(t)\,\mathrm{d}t = \infty.$$

Then every bounded solution of the equation (E) is either oscillatory or $\lim_{t\to\infty} x(t) = 0$ and $\lim_{t\to\infty} z(t) = 0$. If (10) holds then in addition

(21)
$$\lim_{t \to \infty} L_k z(t) = 0, \quad k = 1, 2, ..., n-1.$$

Proof. Let x(t) be a bounded positive solution of (E) on $[t_0, \infty)$. Without loss of generality we suppose that x(g(t)) > 0, x(h(t)) > 0 for $t \ge t_1 \ge t_0$. If x(t) is bounded, then in view of (5) or (17) we have that z(t) is bounded on $[t_1, \infty)$.

Multiplying the equation (E) by $A_{n-1}(t)$ and then integrating from t_1 to $t \ (> t_1)$ we get

(22)
$$u_n(t) = \int_{t_1}^{t^t} A_{n-1}(s) L_n z(s) \, \mathrm{d}s = \int_{t_1}^{t} A_{n-1}(s) q_-(s) f(x(g(s))) \, \mathrm{d}s \\ - \int_{t_1}^{t} A_{n-1}(s) q_+(s) f(x(g(s))) \, \mathrm{d}s + \int_{t_1}^{t} A_{n-1}(s) b(s) \, \mathrm{d}s.$$

Let (19_1) , (20_1) hold. If

(23)
$$\int_{t_1}^{\infty} A_{n-1}(s)q_+(s)f(x(g(s))) \, \mathrm{d}s = \infty,$$

then from (22) in view of the boundedness of x(t) (> 0), (C_1), (C_2), (18), and (20₁) we obtain $\lim_{t\to\infty} u_n(t) = -\infty$. Then by Lemma 5 $\lim_{t\to\infty} z(t) = -\infty$, which contradicts the assumption that z(t) is bounded. Therefore

(24)
$$\int_{t_1}^{\infty} A_{n-1}(s)q_+(s)f(x(g(s))) \,\mathrm{d}s < \infty.$$

Then (22) with regard to the boundedness of x(t) (> 0), (C_1), (C_2), (18), (20₁) and (24) yields that there exists a $b_n \in \mathbb{R}$ such that $\lim_{t\to\infty} u_n(t) = b_n$. Then in view of Lemma 5, the case (ii) and the boundedness of z(t) there exists a finite $\lim_{t\to\infty} z(t) = b_0 \in \mathbb{R}$.

If (10) holds then in addition $\lim_{t\to\infty} L_k z(t) = 0, k = 1, 2, ..., n-1.$

From (24) in view of (C₁), (C₂) and (19₁) we have $\liminf_{t\to\infty} x(t) = 0$. Using Lemma 1 we obtain $\lim_{t\to\infty} z(t) = 0$. Now by Lemma 2 we have $\lim_{t\to\infty} x(t) = 0$. Analogously we can prove the result if (19₂), (20₂) hold.

The following examples are illustrative:

Example 1. Consider the equation

(E₁)
$$\left(e^{-t}(x(t) - \frac{e^{-2\pi}}{2}x(t-2\pi))'\right)' + \frac{e^{-(t+\pi)}}{2}\frac{1+\cos t}{2+\cos t}x(t-\pi)$$

= $\frac{e^{-2t}(5-3\sin t)}{2}$.

The assumptions (5), (10), (18), (19₁), (20₁) of Theorem 1 are satisfied. The equation (E₁) has a nonoscillatory solution $x(t) = e^{-t}(2 - \cos t)$. Then $z(t) = \frac{1}{2}e^{-t}(2 - \cos t)$, $L_1z(t) = e^{-t}z'(t)$. We easily see that $x(t), z(t), L_1z(t)$ tends to 0 as $t \to \infty$.

Example 2. Consider the equation

(E₂)
$$(e^{2t}(x(t) - 5e^{-2}x(t-2))')' - 4e^{2t+1}(t^2+1)x(t+1) = -t^2e^t.$$

The assumptions (5), (10), (18), (19₂), (20₂) of Theorem 1 are satisfied. The equation (E₂) has a nonoscillatory solution $x(t) = e^{-t}$. Then $z(t) = -4e^{-t}$, $L_1z(t) = 4e^t$. We easily see that x(t), z(t) tend to 0 as $t \to 0$ and $L_1z(t)$ tends to ∞ as $t \to \infty$.

We see that if (11) is satisfied then (21) need not hold.

Theorem 2. Let (C_1) , (C_2) , (5), (11), (18) hold. In we suppose in addition that $q(t) \ge 0$ on $[t_0, \infty)$ and

(25)
$$\int_T^\infty A_{n-1}(t)q(t)\,\mathrm{d}t = \infty, \ T > 0,$$

then every solution of (E) is either oscillatory or $\lim_{t\to\infty} z(t) = 0$ and $\lim_{t\to\infty} x(t) = 0$.

Proof. Let x(t) be a positive solution of (E) on $[t_0, \infty)$. Without loss of generality we suppose that x(g(t)) > 0, x(h(t)) > 0 for $t \ge t_1 \ge t_0$. Multiplying the equation (E) by $A_{n-1}(t)$ and then integrating from t_1 to t we have

$$u_n(t) = \int_{t_1}^t A_{n-1}(s) L_n z(s) \, \mathrm{d}s$$

= $\int_{t_1}^t A_{n-1}(s) b(s) \, \mathrm{d}s - \int_{t_1}^t A_{n-1}(s) q(s) f(x(g(s))) \, \mathrm{d}s.$

Then with regard to (C_1) , (C_2) , (18) and (24), the last equation implies that $u_n(t)$ is bounded from above, i.e.there exist a $T \ge t_1$ and a constant K > 0 such that $\overline{u}_n(t) = u_n(t) + A_n(T)L_{n-1}z(T) < K < \infty$ for $t \ge T$. Then using (15_{n-1}) and (11) we get

$$u_{n-1}(t) \leqslant -KA_{n-1} \int_{T}^{t} \frac{A'_{n-1}(s)}{A^{2}_{n-1}(s)} ds$$
$$= K \left[1 - \frac{A_{n-1}(t)}{A_{n-1}(T)} \right] \leqslant K, \quad t \ge T.$$

If we repeat this argument n-2-times we get that $u_1(t) = z(t) - z(T)$ is bounded from above. Using Lemma 3 we obtain that x(t) is bounded on $[t_0, \infty)$. Now we apply Theorem 1 we obtain that $\lim_{t\to\infty} z(t) = 0$ and $\lim_{t\to\infty} x(t) = 0$.

Theorem 3. Let (C_1) , (C_2) hold and let p(t) be a bounded function on $[t_0, \infty)$. In addition we suppose that

(26)
$$\int_{t_0}^{\infty} \frac{\mathrm{d}t}{a_i(t)} = \infty, \quad i = 1, 2, \dots n-1,$$

(27)
$$\int_{t_0}^{\infty} |b(t)| \, \mathrm{d}t < \infty,$$

and either

(28₁)
$$\int_{t_0}^{\infty} q_+(t) \, \mathrm{d}t = \infty,$$

(29₁)
$$\int_{t_0}^{\infty} q_-(t) \, \mathrm{d}t < \infty,$$

or

(28₂)
$$\int_{t_0}^{\infty} q_+(t) \, \mathrm{d}t < \infty,$$

(29₂)
$$\int_{t_0}^{\infty} q_-(t) \, \mathrm{d}t = \infty$$

Then every bounded solution of the equation (E) is either oscillatory or

$$\liminf_{t\to\infty} |x(t)| = 0 \text{ and } \lim_{t\to\infty} L_k z(t) = 0 \text{ for } k = 1, 2, \dots, n-1.$$

Proof. Let x(t) be a bounded positive solution of (E) on $[t_0, \infty)$. Without loss of generality we suppose that x(g(t)) > 0, x(h(t)) > 0 for $t \ge t_1 \ge T$. Because p(t)and x(t) are bounded on $[t_0, \infty)$ then z(t) is bounded. Integrating the equation (E) from t_1 to t we get

(30)
$$L_{n-1}z(t)(t) - L_{n-1}z(t_1) + \int_{t_1}^t q_+(s)f(x(g(s))) \, \mathrm{d}s$$
$$= \int_{t_1}^t b(s) \, \mathrm{d}s + \int_{t_1}^t q_-(s)f(x(g(s))) \, \mathrm{d}s$$

Let (28_1) , (29_1) hold. If

$$\int_{t_1}^{\infty} q_+(s) f(x(g(s))) \,\mathrm{d}s = \infty,$$

then from (30) in view of the boundedness of x(t) (> 0), (C₁), (C₂), (27), (28₁) we obtain $\lim_{t\to\infty} L_{n-1}z(t) = -\infty$. In view of (26) the last relation implies $\lim_{t\to\infty} z(t) = -\infty$, which contradicts the fact that z(t) is bounded on $[t_0, \infty)$.

Therefore

(31)
$$\int_{t_1}^{\infty} q_+(s) f(x(g(s))) \, \mathrm{d}s < \infty.$$

From (30) with regard to (C_1) , (C_2) , (28_1) and the boundedness of x(t) we have $\liminf_{t \to \infty} x(t) = 0$.

In view of (27), (31) and (29₁), (30) implies that there exists a finite $\lim_{t\to\infty} L_{n-1}z(t)$. Now if we use (26) and the boundedness of z(t), we have $\lim_{t\to\infty} L_k z(t) = 0$, k = 1, 2, ..., n-1.

Analogously we prove the result if (28_2) , (29_2) hold.

335

References

- D.D. Bainov and D.P. Mishev: Oscillation Theory for Neutral Equations with Delay. Adam Hilger IOP Publishing Ltd., 1991, pp. 288.
- S.R. Grace, B.S. Lalli: Oscillations theorems for certain neutral differential equations. Czech. Math. J. 38(113) (1998), 745-753.
- [3] J.R. Graef, M.K. Grammatikopoulos, P.W. Spikes: Asymptotic Behavior of Nonoscillatory Solutions of Neutral Delay Differential Equations of Arbitrary Order. Nonlinear Analysis Theory Math. Appl. 21 (1993), no. 1, 23-42.
- [4] M.K. Grammatikopoulos, P. Marušiak: Oscillatory properties of solutions of second order nonlinear neutral differential inequalities with oscillating coefficients. Arch. Math. 31 (1995).
- [5] I. Györi, G. Ladas: Oscillation Theory of Delay Differential Equations. Clear. Press, Oxford, 1991, pp. 368.
- [6] J. Jaroš and T. Kusano: Sufficient conditions for oscillations of higher order linear functional differential equations of neutral type. Japan J. Math. 15 (1989), 451-432.
- [7] T. Kusano and H. Onose: Nonoscillation theorems for differential equations with deviating argument. Pacific J. Math. 63, N1 (1976), 185-192.
- [8] P. Marušiak: Asymptotic properties of nonoscilltory solutions of neutral differential equations. Proceedings of the Conf. Ord. Dif. Eq. Poprad (SR). 1994, pp. 55-61.
- [9] Y. Naito: Nonoscillatory solutions of neutral differential equations. Hirosh. Math. J. 20 (1990), 231-258.
- [10] M. Růžičková, E. Špániková: Oscillation theorems for neutral differential equations with the quasi-derivatives. Arch. Math. 30 (1994), no. 4, 293-300.
- [11] S. Staněk: Asymptotic and oscillatory behavior of solutions of certain second order neutral differential equations with forcing term. Math. Slovaca 42 (1992), 485-495.

Author's address: Department of Applied Mathematics, University of Žilina, J.M. Hurbana 15, 010 26 Žilina, Slovak Republic, e-mail: marusiak@uvt.utc.sk.